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40+ (20 %)
Consider the truss in F:aure 1.
Determine the forces in

(@) member DN

. o4 1 (b) member OM
Ay P o ™ K Tt

e e e Sy M\ B i g
(NOTE: A= fes30" )

( F.‘%ure 4 )

(c) member EM
(d) member DE

2. (20 %)
Draw the shear aad beanng_

momen{' Jt'agrams _{o\f member RF
0{ the Fin - connected frame .

(Figure 2)

3 (209%)
A .Sfee\ pipe With Yoi.mg‘s

modulus . E is loaded
as shown in Figue 3. The
— 3P Cross~ sectional area of the
L ' pipe is A

fe Ll 2L (@) Calculate +he Je{\ecjﬁ‘"‘ § at

the free end.
gar ?)
( Figare 3) (b) Find 4he distance X from the

‘Q—H: hand Su-pPOr‘L‘ to the Pom'f' at Lu}'hch
the Je-Flecfnon “Q er(.
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(Figme 4)

4. (20%) A beam s of rec{angulm Cross section shown im
l:.'av\ro 4 '
(@) Draw 4the sheor -Force Ju‘c\amm
() Draw the Le”““"gt moment diagram

(c) Calewlate the maximum normal stress  in the beam.
4) CUMPM+€ the JeJFleCJn'on at Po:‘n'l' C

5 (20%)
Delfermine 1he CrH‘.’le ‘oqA rc,. —For ’H‘\e r.‘ai:l bqr._s’i)r.'ﬁné
A/\aa_*em s\\owr\ An l:.'awe 5.
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(Fiaure 5.)




